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RASHTRIYA INDIAN MILITARY COLLEGE, DEHRADUN
ENTRANCE EXAMINATION - DEC 2022

SUBJECT: MATHEMATICS

TIME: 1Hr 30 Mins | | - , MM: 200
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Attempt all 30 questions. Write your answers separately on the answer sheet to be provided at
the exam centre.

Wl 30 WEAT Y B G | AU Seaw YRaeT W fRay @ B wden Fw A § |

Part ‘A’ contains 20 questions and each question in this part carries ‘Five marks’.

W T % W e iy ol @ 8 ok T g 20 W €
Part ‘B’ contains 10 questions and each question in this part carries ‘Ten marks’.
T W @ Wl 0 T S @ & ok 3 3w 10 W £
Use of Calculator is Prohibited. Marks will be awarded stepwise.
BT JANT SRl W AT 8 | 3% WY 9 &Y |
Take the value of was 2/ 31 A1 22 farfig |

The qu;stiun paper can be retained by the candidates post exam./ T B 1 wErl UvT T P o O
WehaT 8 |

PART A (20 X 5 = 100 MARKS)
Find the largest number that will divide 398, 436 and 542, leaving remainders 7,

11 and 15 respectively. / aY aa@ ot seqr wa g Rrad 398, 436, 542 FY AN Y
e 7, 11 AT 15 Aw T=aT )

. Vv1204.09 -V125.44
Simplify / 77 #%:- s

The adjacent sides of a rectangle are —6p* + 7p®q? + pq and 7pq — 5p3 + 9p2q?2.
Find its perimeter. / T sraa $t srew §o¢ —6p° + 7p2q? + pg A<
7pq — 5p3 + 9p?q? & & swh afwTT e wE |

)
-y? 4418 2

Show that / frg 7% 2@ )’x@a%)s _ 5
(16a*)4x(a?)®

Prove that the interior an%; of a regular polygon is three times the exterior angle
of a regular decagon. / fhierg b O ey s st wyor T HHEMS &
T HT AT grar gl N

The price of sugar increased by 20%. By how much percent should Dinesh reduce
his consumption of sugar so that expenditure of sugar does not increase? [ A
Fiaa § 20% #t 7&K g€, Rver v i i aqﬁmﬁﬁﬁ%ﬁm“mmﬁqmm
It T @S 7 93

The LCM of two numbers is 9 times their HCF. The sum of HCF and L.CM is 500.

Find their HCF. / & ¥SqTeh &7 AW qATTEF I7% HEwH GHITIHH %7 © 7T & Sl sy
3R AR FATIES. % A1 500 B ITF HET AATIEAT HT 71T 7T ST e |
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x+1\2 _ x+2

08 Solve / g fiftrg: (52) =22

+2 xX+4

Q.9 A man loses 20% of his money. After spending 25% of the remai:;i;::a h:r g:; l;fr
480.00 left. How much money did he originally have? / T =

X &, A9 % 25% s Y ¥ T T T 480 T % &) Tk qre g« €7 & R e 9

Q.10 Factorise the following / RwffRre w1 qumave Hifog
(a) x% — y? — 9z% + 6yz .
(b) 3 —-12(a - b)?

Q.11 Distance between two station A and B is 690 Km Two cars start simultaneously
from A and B towards each other and the distance between them after 6 hours is

30 Km. If the speed of one car is less than the other by 10km/hr, find the speed of
each car. / ¥R A IR BFAwH 600 ARt g AR Tw i ea W RATA IBH

TF T I T St §1 6 W ¥ are ook ot B ot 30 Rt &1 TR o e f il g R
e & 10 Rrfi/er v & 9 5% e R AR

Q.12 2.2 cubic dm of brass is to be drawn into a cylindrical wire 0.50cm in diameter.

Find the length of the wire. / 2.2 y= ¥ftfte fiaw %Y 0.5 ¥+t =16 & TF FATHR A A
TEAT ATAT 1 AT A AT AR _

Q.13 The sum of three consecutive numbers is 156. Find the ‘number which is a

multiple of 13 out of these numbers. / fi= waTT G&qTH F7 TRT 156 §1 I T&UT T
I ST &7 GSATA A & 13 7 T g |

Q.14 Evaluate / wa %¢: V968 + V1375

Q.15 If % of a number exceeds its -:-by 44, Find the number. / nﬁﬁﬁﬁﬁwwg mtﬂﬁé
WTT & 44 S0 § @7 9 E4qT AT H<

Q.16 Ifx +i = 11, then find the value of following / #ﬁx+§= 11 Eh‘ﬁ'ﬂﬁﬁ?rwqﬁm
H .
@x*+= x*+3

Q.17 In an auditorium, 300 tickets were sold. The total sale of tickets was Rs 1250. If
the ticket were of two denominations of Rs2.50 and Rs5. How. many of each

denomination were sold? / mﬂwﬁsooﬁﬂﬁwlﬂﬁZSD'GmSEW%
fewe & A WA® qEgad & fhad fehe 9 77

Q.18 A dielis tossed once. List the outcomes. Also find the probabili of qﬁ'q?r
mmmg?ﬁqﬁw&mﬁﬁf?ﬁqmﬁwﬁmﬁmmﬁﬁq{y FEIE

(a) Getting an even Prime Number / @ & sty st w18 el ﬁ
(b) Getting non prime and non composite No. / s&qv 3t 7 awrew 8t e 7 & ST N
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Q.19 Shalini has to cut out circles of diameter 1%cm from an aluminium strip of
dimensions B-Ecm by 1%1:111. How many full circles can shalini cut? Also
calculate the wastage of the Aluminium strip? / @ferT ®I 12 eft srer ATelt T TE

TR Tt i & e e & e w82 x 12 3t &1 anRey v ot ot e W &7
TET % Aqery Y TrAT FRA

Q20 The rectangle PQRS, angle OPQ=48°, find angle RSQ / ¥ R¥ g A PQRS #
<« OPQ=48" § a1 . RSQ %7 7T T <l

Q.21 Some toffees are bought at 9 for Rs10 and an equal number at 11 for Rs10. If all
toffees are sold at 10 for Rs10, find the gain or loss percent. / FE T 10T R 9 ;T

TFHERTH 10T X 11 g0 ardt g1 IR it et S 10T X 10 F RET F ST A@TE T
gHT AT |7V Wi s w3

Q.22 Alead pencil consists of a cylinder of wood with a solid cylinder of graphite filled
into it. The diameter of pencil is 7mm, the diameter of the graphite i{s 1mm and
length of pencil is 10cm. Calculate the weight of the whole pencil, if the specific

gravity of the wood is 0.7gm/cm3 and that of the graphite is 2.1gm/cm3. / w& 3=

GfRrer S st & Rrste % s Y ) Rradt Irvree W=y &) ¥R w1 = 7 et § v e o
=qrq 1 et gIEfRe it farg 10 ¥ {1 ¥Rw w1 a9 w9 wRY IR T 71 Al e 0.7
ATH/AH TUT THTRE F7 2.1 ATHA/EH §)

Q.23 The difference between the compound interest and simple interest on a certain |
.sum of money at 10% per annum for 2 years is Rs 500. Find sum when the
interest is compounded annually. / TF fRfEm Tf¥r 9 10% wRad frwF 2 7 F R

Tgie AT 3T TTHTT ST &7 3A< 500 T §1 7 iR ww e 190 5477 177%% o7
s grat g |

Q.24 120 men had food provision for 200 days. After 5 days, 30 men died due to an
epidemic. How long will the remaining food last? / 120 e % urw 200 Rt % Rra

o & sraur &1 5 R arw 30 ge (i) 6 wgrdy & 7oy &, o qwmey www ga
WIS % T Tl

Q.25 Find the value of p if / Rwffa & p = wme wmar #%
(a) 8p = (59)* = (51)° 2 '
(b) abp = (3a + b)? - (321‘-1 — b)
(c) 143p = (76)* — (67)
(d) 441 —p? = (21)* - (17)*
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Q.26 A bicycle dealer has RS 20,000 to invest, when a bicycle is available for Rs 800. If
the price of a bicycle increases by 25%, find the number of cycles he can purchase

with the same sum. / @mmﬁzo.oooﬁmmwgﬁ@m
300@'&#3@%w&ﬂmﬁﬁrﬁﬁwﬁzs%ﬁﬂ@ﬁ&?ﬂagaﬁuﬁr%ﬁﬁﬁ
qrefae @d% g6t g

Q.27 Construct a trapezium PQRS in which PQIRS, PQ=8cm, QR=6cm, RS=4cm,
£Q =60° / T% ¥9=ia PQRS F75¢ 7@ PQ|RS, PQ=8 &1, QR=6 &', RS=4 T A

£Q =60°

Q.28

In the above figure PQRS is a paralielngram. T is the midpoint of PQ and ST bisect

 £S. / PQRS u& aq¥ § el T, weafayg § PQ %7 < ST W< T @I § «S 7|

Prove that /REs¢- (a) QR=QT
3 (b) RT bisects £R
(c) £STR=90°

Q.29 Three sets of English, mathematics and science books, containing 336, 240 and 96
books respectively have to be stacked in such a way that all the books are stored
subject wise and height of each stack is the same. How many stacks will be there?

/ ach, T alrc R Y g & A e R wwen 336, 240 o 06 R &1 TR 59 T
g & ¥ ST & P vt Ry R @ s e A< ot ST e € 2 Py ¥ 8

T 3

Q.30 If two unbiased dice are thrown what is the probability of getting a sum of 57 /
IR TR IR FF AT NS TIATIE FA R TRTTRTY?

ALL THE BEST
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